4" 4!_8" 4!_8" 4"
— ‘
/ b
) i |22
71 a
| iji ~
%f cl-dl = %
oo -\ RN
= n—d2—ek/"" = n-d2-ek ~ n-d2-ek -g:‘ £
ek f 6"
o Position of Guy
& (When req'd.) %
2" min.
A
d2-ek
n-d2-ek
/n-ek
@
~
A/
I~
/
ITEM MATERIAL QTY |ITEM MATERIAL QTY

a Insulator, pin type 6 f Pin, crossarm, steel, 4
aw Spring, Washer 4 cl Bolt, machine 1/2" 4
b Pin, pole top, offset 2 n Bolt, double arming, 5/8" x req'd. length 4
c2 Bolt, machine, 5/8" x req'd. length 3 cu Brace, wood, 36" 4
dl Washer, Round 1/2" 4 cm Insulator, spool 1
d2 | Washer, square 2 1/4" 13 ek | Locknuts 16
bs Upset Bolt 1 g Crossarm, 3 1/2" x 4 5/8" x 10'-0" 2

NOTES:

14.4/24.9 KV, 3-PHASE

CROSSARM CONSTRUCTION-DOUBLE PRIMARY SUPPORT

RUS

06/21/11

Rev.

A

VC2.20R




